
5 d`vxd - v"awg2011 xanv
a 1
M bia zhiy jynd

max z = 3x1 + 5x2

s.t : x1 ≤ 4

x2 ≤ 6

3x1 + 2x2 = 18

xi ≥ 0 if`
max z = 3x1 + 5x2 −Mx̄5

s.t : x1 + x3 = 4

x2 + x4 = 6

3x1 + 2x2 + x̄5 = 18

xi ≥ 0 :qwltniqddivxhi` qiqa z x1 x2 x3 x4 x5 RHS qgi
z 1 −3M − 3 −2M − 5 0 0 0 −18M0 x3 0 1 0 1 0 0 4 4
x4 0 0 1 0 1 0 6 ∞

x5 0 3 2 0 0 1 18 6
z 1 0 −2M − 5 3M + 3 0 0 −6M + 121 x1 0 1 0 1 0 0 4 ∞

x4 0 0 1 0 1 0 6 6
x5 0 0 2 -3 0 1 6 3

z 1 0 0 −
9

2
0 M + 5

2
272 x1 0 1 0 1 0 0 4 4

x4 0 0 0 3

2
1 − 1

2
3 2

x2 0 0 1 − 3

2
0 1

2
3 -2(dnbe
d z` jiynp `l)didi ef diral ilnihte`d oexztd

x1 = 2

x2 = 6

x3 = 2

z = 36
r (M) qpw mr dxhnd 'wpetl eze` qipkpe izek`ln dpzyn siqep ,oeieey ueli` ly dxwna ,mekiql.ilnihte`d oexztl ezxfra ribpe epnn xhtip jke ,qt`ziy
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:dle
b ziaeig ztqez didi qpwd menipin ziiraa
min z = 5x1 − 2x2 +Mx̄5.(dle
b zilily ztqez didz epi`xy enk meniqwn ziiraae):ueli` sqep did ef diraly gipp

2x1 − 4x2 = 10 :sqep izek`ln dpzyn mitiqen epiid f`
2x1 − 4x2 + x̄6 = 10dxhnnd 'wpetl eze` miqipkn ep` izek`ln dpzyn lk lr ,sqep izek`ln dpzyn epl sqepy oeeik:qpw eilr minlyne

max z = 3x1 + 5x2 −Mx̄5 −Mx̄6

≥ ueli` - iziira dxwn
max z = 3x1 + 5x2

s.t : x1 ≤ 4

x2 ≤ 6

3x1 + 2x2 ≥ 18

xj ≥ 0:zepeieeyl jetdpe s
er dpzyna ypzyp df dxwna
x1 + x3 = 4

x2 + x4 = 6

3x1 + 2x2 − x5 = 18,okl .ilily x5 if` ,0 mdipy x1, x2 m`y oeeik zi
iin epl xefrz `l s
er dpzyn ztqed - iziira:dfd ueli`l izek`ln dpzyn siqep
3x1 + 2x2 − x5 + x̄6 = 18:dxhnd 'wpet z` zepyl oaenk epilre

z = 3x1 + 52 −Mx̄6md miizek`ln mipzyne xqeg ipzyny rawp ,
igi iqiqa dpzyn didi ueli` lkay jixvy oeeik.(qwltniqa ynzydl lkep f`e) iqiqa `l dpzyn didi s
er dpzyne qiqa ipzynmekiql.xqeg dpzyn siqep ≤ ueli`d m`.izek`ln dpzyn siqep = ueli`d m`.izek`ln dpzyne s
er dpzyn siqep ≥ ueli`d m`zeil`e
dira dliawn dxeva gqpl ozip zilnixt dira lkl .zilnixt dira `xwp dk 
r epgqipy diralmiilnihte`-zz zepexzt lr zxaer) ixyt`d megzdn dribn zilnixtd dirad .zil`e
 dira `xwizdlr zxaer xnelk) ixyt` `ld megzdn dribn zil`e
d dirad eli`e (ilnihte` oexztl seqa dribne
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.(ilnihte` oexztl seqa dribne miiilnihte`-lr zepexzt:dxevdn dpid zilnixt dira zbvd
max z =

n∑

j=1

cjxj

s.t :

n∑

j=1

aijxj ≤ bi

i = 1, ..., m

xj ≥ 0 dx
bd:`id l"pd zilnixtl zil`e
d dirad
min w =

m∑

i=1

biyi

s.t :

m∑

i=1

aijyi ≥ cj

j = 1, ..., n

yi ≥ 0.jtdle zilnixtd diraa mipzynd xtqnk `ed miveli`d xtqn ,zil`e
d diraadnbe

max z = 3x1 + 5x2

s.t : x1 ≤ 4

x2 ≤ 6

3x1 + 2x2 ≤ 18

x1, x2 ≥ 0 :`id ef diral zil`e
d dirad
min w = 4y1 + 6y2 + 18y3

s.t : y1 + 3y3 ≥ 3

y2 + 2y3 ≥ 5

yi ≥ 0.miveli`d ly (bi) mia`ynd md dxhnd 'wpeta min
wnd ,zil`e
d diraa xnelk.dxhnd 'wpet ly min
wnd eidi miiveli`d ly oini sb`.'eke miveli`a x1 in
wn md min
wnd oey`xd ueli`adprh.ziaa egiked .zilnixtd `id zil`e
d diral zil`e
d dirad.(jynda gikep) ilnihte`d oexztd xear ddff didi dxhnd 'wpet jxr ,dirad izy z` xeztp m`.mipzyn 20e miveli` ipy lelkz zil`e
d dirad .miveli` 20e mipzyn 2 mr ,dira epl yiy gipplelkz dlahd zilnixtd diraay 
era mi`z 2 · 22 = 44k lelkz qwltniqd zlah zil`e
d diraa.zil`e
d dirad z` aygl xzei heyt didi okle mi`z 20 · 22 = 440kyiyk dfe) zitxb dxeva xeztpyk epid zilnixtd diraa dxwn lka ynzydl si
rp ea i
igid dxwnd.(mipzyn 2 wx3


